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Funktionsgleichung

Expandierte Funktionsgleichung / Ableitung

fit) = (x = D(x +2)(x = 5)

filx) = x3 —4x? + 3x + 10

fi(x) =3x?>—-8x+3

f2(x) = x*(2x = )(x + 4)

fo(x) = 2x* + 7x3 — 4x?

fr(x) = 8x3 +21x2% — 8x

f300) = x=DHx +1)

fz(x) =x—-1

f'x)=1

fa() = 2x - 1)°

fa(x) =8x3—12x2 +6x— 1

fi'(x) = 24x% —24x + 6
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Level 2 - Fortgeschr/tten - Blatt 2
Funktionsgleichung Expandierte Funktionsgleichung / Ableitung

fo(x) = x% — 2xx + x
fs'(x) =2x —3Vx+1

fs) =x- (1—vx)

f(x)_(X+x2) (3+__i fe(x)=3x2+3x—x_12+1
6 x3 fﬁl(x) - 6x+3+%

1

fr(x) =2x2+1—x?
1

fr'G) =x"2—2x

f0) = x- 2+ x77 - x7)
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